End-of-Module 2 Review Sheet

" Name Date C/OV\V'C (‘-(- '('0 ) WLO.\.(C‘\ wh I*S
sMmaller unit
1. Coi’nplete the conversion charts. \L
Length k \AW‘. -~ ll 000 ﬂ

5km= 5,000 m
8km= § 0OC> m
5km 324 m= 5/324—{ m
11 km 10 m= \\' O\O© m

smaller unit
Capacity

J
6L= 4,000 mL \ L= \IOOOZEL‘ k

521907 mL=3 2,07 mL
3L30ml= 3, O3 O mL

43217 ml=1432, 00Tl

Mass

4kg= L//OOO g [ (@cj = |, OOOJ .
10 kg 500 g= (o/SOO g

3kg 52 g= 3’/052_ g

602kg2g=éOZIOOZ_g

2. A student completed the problem below. Check his work.\Explainlhow you know if each solution is

Problems a and

correct or incorrect.
L3

T 48km=48,000m\/ szW\T— P(%/[(X)OV\/\

b. 18L= 18,000 mL 4 ane cofre
« sigsansy (B = (§000M L use Lkm=

54Rg=54,0009  000m and
’ N, (L= 1,000l
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